### **Communications in Mathematics and Applications**

Vol. 13, No. 3, pp. 893–909, 2022 ISSN 0975-8607 (online); 0976-5905 (print) Published by RGN Publications DOI: 10.26713/cma.v13i3.2069



Research Article

# An M/G/1 Retrial G-queue with Multiple Working Vacation and a Waiting Server

S. Pazhani Bala Murugan <sup>(D)</sup> and R. Keerthana\* <sup>(D)</sup>

Department of Mathematics, Annamalai University, Tamilnadu, India \*Corresponding author: keerthirn1996@gmail.com

Received: July 24, 2022 Accepted: October 6, 2022

**Abstract.** An M/G/1 retrial G-queue with multiple working vacation and a waiting server is taken into consideration in this study. Both the retrial times and service times are assumed to follow general distribution and the waiting server follows an exponential distribution. During the working vacation period customers are served at a lesser rate of service. Before switching over to a vacation the server waits for some arbitrary amount of time and so is called a waiting server. We obtain the PGF for the number of customers and the mean number of customers in the invisible waiting area which is acquired by utilizing the supplementary variable technique. We compute the waiting time distribution. Out of interest a few special cases are conferred. Numerical outcomes are exhibited.

**Keywords.** Retrial queue, Working vacation, Supplementary variable technique, Waiting server, Negative customers

Mathematics Subject Classification (2020). 60K25, 90B22

Copyright © 2022 S. Pazhani Bala Murugan and R. Keerthana. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

# 1. Introduction

Retrial queues are expressed by the fact that if a customer observed that the server is occupied then they are entered into the invisible waiting area called an orbit. In recent years numerous researchers have examined the retrial queue. For a more in-depth analysis of the retrial queues, one can refer [5, 13, 16].

In Queueing theory queueing models with server vacation has a most impactful application. In addition to the vacation strategy Servi and Finn [11] developed a newest vacation strategy, called as Working Vacation (WV). In the WV period the server provides a lesser rate of service to the customers than during the regular service period. Wu and Takagi [15] examined M/G/1/MWV. Kalyanaraman and Murugan [8] have developed the retrial queue with vacation, Murugan and Santhi [9] studied the M/G/1 retrial queue with MWV. For a comprehensive study on WV one can refer [4].

Whenever the system becomes empty the server leaves from the *regular service* period (RS) and goes on a WV, but in a waiting server model the server wait for a arbitrary amount of time before going to WV. For a detailed study on waiting server model one can refer [3, 7, 12]. Arrival of a negative customers causes the server need to repair as well as the removal of the customer from the system. Once it has been repaired, the server is as good as new. For a comprehensive study on G-queue one can refer [10].

In this article, we consider an M/G/1 retrial G-queue with multiple WV and a waiting server. This article has the following structure. We explain the model in Section 2. In Section 3 model analysis are framed. In Section 4 performance measures are established. Section 5 discusses some special cases. In Section 6 numerical outcomes are exhibited along with the graphical analysis. The conclusion is given in Section 7.

## 2. Model Description

We examine an M/G/1 retrial G-queue with multiple WV and a waiting server where the primary customers arrival follows a Poison process with arrival rate  $\lambda$ . If an approaching customer discovers that the server is occupied then they exit the service area because we assume that there is no waiting area and they joins the orbit. At a service completion instant, if the number of customer is one at the extreme front end of the orbit, is permitted to approach the server with a distribution function G(x) and the retrial time follows a general distribution. For the normal service period, let g(x) and  $G^*(\theta)$  signify the pdf and LST respectively, and for WV period, let l(x),  $L^*(\theta)$  signify the pdf and LST respectively. On the service completion epoch of each customer, if there is a contest between primary customer and an orbit customer, then it will be determined with  $R_s(x)$ ,  $r_s(x)$ ,  $R_s^*(\theta)$  as its distribution function, pdf, LST with general distribution. The service delivered among the WV period follows general distribution with  $W_v(x)$ ,  $w_v(x)$ ,  $W_v^*(\theta)$  as its distribution function, pdf, LST.

The server waits for a arbitrary period of time once the orbit turns empty which follows an exponential distribution with rate  $\alpha$ . After completion of waiting time the server goes for WV which follows an exponential distribution with rate  $\beta$  and Inter-arrival times, retrial periods, RS periods, and WV periods are all presumed to be independent of one another.

The negative customers arrival follows a Poison process with arrival rate  $\delta$ . Arrival of a negative customers causes the server need to repair as well as the removal of the customer from the system. The negative customer will disappear and have no further effect on the system if the server is inactive, undergoing repair, or taking a vacation. The repair time follows general distribution with  $N_r(x)$ ,  $n_r(x)$ ,  $N_r^*(\theta)$  as its distribution function, pdf, LST.

Let's use the subsequent random variables.

- O(t) the orbit size at time t;
- $L^{0}(t)$  the remaining retrial time in Working Vacation period;

- $W_v^0(t)$  the remaining service time in Working Vacation period;
- $G^{0}(t)$  the remaining retrial time in regular service period;
- $R_s^0(t)$  the remaining service time in regular service period;
- $N_r^0(t)$  the remaining repair time in RS period.

Further variables are introduced, to generate bivariate Markov Process,

 $\{(E(t), B(t)); t \ge 0\},\$ 

where

$$B(t) = \begin{cases} L^{0}(t), & \text{if } E(t) = 0, \\ G^{0}(t), & \text{if } E(t) = 1, \\ W_{v}^{0}(t), & \text{if } E(t) = 2, \\ R_{s}^{0}(t), & \text{if } E(t) = 3, \\ N_{v}^{0}(t), & \text{if } E(t) = 4. \end{cases}$$

At time "t" the four distinct states of the server are

 $E(t) = \begin{cases} 0 & \text{if the server is not occupied in WV,} \\ 1 & \text{if the server is not occupied in RS period,} \\ 2 & \text{if the server is occupied in WV,} \\ 3 & \text{if the server is occupied in RS period,} \\ 4 & \text{if the server is under repair in RS period,} \\ \end{cases} \\ W_{0,0} = \lim_{t \to \infty} P[O(t) = 0, E(t) = 0], \\ R_{0,0} = \lim_{t \to \infty} P[O(t) = 0, E(t) = 1], \\ W_{0,h}(x) = \lim_{t \to \infty} P[O(t) = h, E(t) = 0, x < L^0(t) \le x + dx]; \quad h \ge 1, \\ R_{0,h}(x) = \lim_{t \to \infty} P[O(t) = h, E(t) = 1, x < G^0(t) \le x + dx]; \quad h \ge 1, \\ W_{1,h}(x) = \lim_{t \to \infty} P[O(t) = h, E(t) = 2, x < W_v^0(t) \le x + dx]; \quad h \ge 0, \\ R_{1,h}(x) = \lim_{t \to \infty} P[O(t) = h, E(t) = 3, x < R_s^0(t) \le x + dx]; \quad h \ge 0, \\ N_h(x) = \lim_{t \to \infty} P[O(t) = h, E(t) = 4, x < N_r^0(t) \le x + dx]; \quad h \ge 1. \end{cases}$ 

Following are the limiting probabilities:

$$\begin{split} R_{s}^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} r_{s}(x) dx, \qquad W_{v}^{*}(\theta) = \int_{0}^{\infty} e^{-\theta x} w_{v}(x) dx, \\ L^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} l(x) dx, \qquad G^{*}(\theta) = \int_{0}^{\infty} e^{-\theta x} g(x) dx, \\ W_{0,h}^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} W_{0,h}(x) dx, \qquad W_{0,h}^{*}(0) = \int_{0}^{\infty} W_{0,h}(x) dx, \\ W_{1,h}^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} W_{1,h}(x) dx, \qquad W_{1,h}^{*}(0) = \int_{0}^{\infty} W_{1,h}(x) dx, \\ R_{0,h}^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} R_{0,h}(x) dx, \qquad R_{0,h}^{*}(0) = \int_{0}^{\infty} R_{0,h}(x) dx, \end{split}$$

$$\begin{split} N_{h}^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} N_{h}(x) dx, \quad N_{h}^{*}(0) = \int_{0}^{\infty} N_{h}(x) dx, \\ N_{r}^{*}(\theta) &= \int_{0}^{\infty} e^{-\theta x} n_{r}(x) dx, \quad W_{0}^{*}(z,\theta) = \sum_{h=1}^{\infty} W_{0,h}^{*}(\theta) z^{h}, \\ W_{0}^{*}(z,0) &= \sum_{h=1}^{\infty} W_{0,h}^{*}(0) z^{h}, \quad W_{0}(z,0) = \sum_{h=1}^{\infty} W_{0,h}(0) z^{h}, \\ W_{1}^{*}(z,\theta) &= \sum_{h=0}^{\infty} W_{1,h}^{*}(\theta) z^{h}, \quad W_{1}^{*}(z,0) = \sum_{h=0}^{\infty} W_{1,h}^{*}(0) z^{h}, \\ W_{1}(z,0) &= \sum_{h=0}^{\infty} W_{1,h}(0) z^{h}, \quad R_{0}^{*}(z,\theta) = \sum_{h=1}^{\infty} R_{0,h}^{*}(\theta) z^{h}, \\ R_{0}^{*}(z,0) &= \sum_{h=1}^{\infty} R_{0,h}^{*}(0) z^{h}, \quad R_{0}(z,0) = \sum_{h=1}^{\infty} R_{0,h}(0) z^{h}, \\ R_{1}^{*}(z,\theta) &= \sum_{h=0}^{\infty} R_{1,h}^{*}(\theta) z^{h}, \quad R_{1}^{*}(z,0) = \sum_{h=0}^{\infty} R_{1,h}^{*}(0) z^{h}, \\ R_{1}(z,0) &= \sum_{h=0}^{\infty} R_{1,h}(0) z^{h}, \quad N^{*}(z,\theta) = \sum_{h=0}^{\infty} N_{h}^{*}(\theta) z^{h}, \\ N^{*}(z,0) &= \sum_{h=0}^{\infty} N_{h}^{*}(0) z^{h}, \quad N(z,0) = \sum_{h=0}^{\infty} N_{h}(0) z^{h}. \end{split}$$

The above mentioned are the LST and PGF which we have defined.

# 3. The Orbit Size Distribution

In steady state the system was illustrated by the subsequent differential difference equations:

$$\lambda W_{0,0} = W_{1,0}(0) + \alpha R_{0,0} + N_0(0), \tag{3.1}$$

$$-\frac{d}{dx}W_{0,h}(x) = -(\beta + \lambda)W_{0,h}(x) + W_{1,h}(0)l(x); \quad h \ge 1,$$
(3.2)

$$-\frac{d}{dx}W_{1,0}(x) = -(\beta + \lambda)W_{1,0}(x) + W_{0,1}(0)w_v(x) + \lambda W_{0,0}w_v(x), \qquad (3.3)$$

$$-\frac{d}{dx}W_{1,h}(x) = -(\beta + \lambda)W_{1,h}(x) + \lambda W_{1,h-1}(x) + W_{0,h+1}(0)w_v(x) + \lambda \int_0^\infty W_{0,h}(x)dx \ w_v(x); h \ge 1,$$
(3.4)

$$(\lambda + \alpha)R_{0,0} = R_{1,0}(0), \tag{3.5}$$

$$\frac{d}{dx}R_{0,h}(x) = -\lambda R_{0,h}(x) + R_{1,h}(0)g(x) + N_h(0)g(x) + \beta \int_0^\infty W_{0,h}(x)dx \ g(x); \quad h \ge 1,$$
(3.6)

$$-\frac{d}{dx}R_{1,0}(x) = -(\lambda+\delta)R_{1,0}(x) + R_{0,1}(0)r_s(x) + \beta r_s(x)\int_0^\infty W_{1,0}(x)r_s(x)dx, \qquad (3.7)$$
$$-\frac{d}{dx}R_{1,h}(x) = -(\lambda+\delta)R_{1,h}(x) + \lambda R_{1,h-1}(x) + \beta r_s(x)\int_0^\infty W_{1,h}(x)dx + R_{0,h+1}(0)r_s(x)$$

$$+\lambda r_s(x) \int_0^\infty R_{0,h}(x) dx; \quad h \ge 1,$$
(3.8)

$$-\frac{d}{dx}N_0(x) = -\lambda N_0(x) + \delta n_r(x) \int_0^\infty R_{1,0}(x) dx,$$
(3.9)

$$-\frac{d}{dx}N_h(x) = -\lambda N_h(x) + \lambda N_{h-1}(x) + \delta n_r(x) \int_0^\infty R_{1,h}(x) dx.$$
(3.10)

Taking the LST from (3.2) to (3.10) on both sides results

$$\theta W_{0,h}^*(\theta) - W_{0,h}(0) = (\lambda + \beta) W_{0,h}^*(\theta) - W_{1,h}(0) L^*(\theta); \quad h \ge 1,$$
(3.11)

$$\theta W_{1,0}^*(\theta) - W_{1,0}(0) = (\lambda + \beta) W_{1,0}^*(\theta) - W_{0,1}(0) W_v^*(\theta) - \lambda W_{0,0} W_v^*(\theta),$$
(3.12)

$$\theta W_{1,h}^*(\theta) - W_{1,h}(0) = (\lambda + \beta) W_{1,h}^*(\theta) - W_{0,h+1}(0) W_v^*(\theta) - \lambda W_{1,h-1}^*(\theta) - \lambda W_{0,h}^*(0) W_v^*(\theta); \quad h \ge 1, \quad (3.13)$$
  
$$\theta R_{0,1}^*(\theta) - R_{0,h}(0) = \lambda R_{0,1}^*(\theta) - R_{1,h}(0) G^*(\theta) - N_h(0) G^*(\theta) - \beta G^*(\theta) W_{0,1}^*(0); \quad h \ge 1, \quad (3.14)$$

$$\theta R_{1,0}^*(\theta) - R_{1,0}(0) = (\lambda + \delta) R_{1,0}^*(\theta) - R_{0,1}(0) R_s^*(\theta) - \beta R_s^*(\theta) W_{1,0}^*(0) - \lambda R_{0,0} R_s^*(\theta), \qquad (3.15)$$

$$\theta R_{1,h}^*(\theta) - R_{1,h}(0) = (\lambda + \delta) R_{1,h}^*(\theta) - \lambda R_{1,h-1}^*(\theta) - R_s^*(\theta) R_{0,h+1}(0) - \beta R_s^*(\theta) W_{1,h}^*(0)$$

$$\lambda R_{1,h}^*(\theta) R_{1,h}^*(\theta) - \lambda R_{1,h-1}^*(\theta) - R_s^*(\theta) R_{0,h+1}(0) - \beta R_s^*(\theta) W_{1,h}^*(0)$$
(2.16)

$$-\lambda R_{s}^{*}(\theta)R_{0,h}^{+}(0); \quad h \ge 1,$$
(3.16)

$$\theta N_0^*(\theta) - N_0(0) = \lambda N_0^*(\theta) - \delta R_{1,0}^*(\theta) N_r^*(\theta), \qquad (3.17)$$

$$\theta N_{h}^{*}(\theta) - N_{h}(0) = \lambda N_{h}^{*}(\theta) - \lambda N_{h-1}^{*}(\theta) - \delta R_{1,n}^{*}(0) N_{r}^{*}(\theta).$$
(3.18)

Summing over h from 1 to infinity  $\times$  (3.11) with  $z^h$  and results,

$$W_0^*(z,\theta)[\theta - (\beta + \lambda)] = W_0(z,0) - L^*(\theta)[W_1(z,0) - W_{1,0}(0)].$$
(3.19)

Summing over h from 1 to infinity  $\times$  (3.13) with  $z^h$  and comprise with (3.12) results,

$$W_1^*(z,\theta)[\theta - (\beta - \lambda z + \lambda)] = W_1(z,0) - \frac{W_v^*(\theta)}{z} W_0(z,0) - \lambda W_{0,0} W_v^*(\theta) - \lambda W_v^*(\theta) W_0^*(z,0).$$
(3.20)

Placing  $\theta = \beta + \lambda$  in (3.19), results

$$W_0(z,0) = L^*(\beta + \lambda)[W_1(z,0) - W_{1,0}(0)].$$
(3.21)

Placing  $\theta = 0$  and (Sub.) (3.21) in (3.19), results

$$W_0^*(z,0) = \frac{(1 - L^*(\lambda + \beta))[W_1(z,0) - W_{1,0}(0)]}{\lambda + \beta}.$$
(3.22)

Placing  $\theta = \beta - \lambda z + \lambda$  and (Sub.) (3.21) and (3.22) in (3.20), results

$$W_{1}(z,0) = \frac{W_{v}^{*}(\lambda - \lambda z + \beta)[\lambda z(\lambda + \beta)W_{0,0} - (L^{*}(\lambda + \beta)(\lambda - \lambda z + \beta) + \lambda z)W_{1,0}(0)]}{z(\lambda + \beta) - W_{v}^{*}(\lambda - \lambda z + \beta)(L^{*}(\lambda + \beta)(\lambda - \lambda z + \beta) + \lambda z)}.$$
(3.23)

(Sub.) (3.23) in (3.21), results

$$W_0(z,0) = \frac{zL^*(\lambda+\beta)(\lambda+\beta)[\lambda W_v^*(\lambda-\lambda z+\beta)W_{0,0}-W_{1,0}(0)]}{z(\lambda+\beta)-W_v^*(\lambda-\lambda z+\beta)(L^*(\lambda+\beta)(\lambda-\lambda z+\beta)+\lambda z)}.$$
(3.24)

Let  $f(z) = (\beta + \lambda)z - W_v^*(\beta + \lambda - \lambda z)(L^*(\lambda + \beta)(\beta + \lambda - \lambda z) + \lambda z)$ , for f(z) = 0 we obtain f(0) < 0 and f(1) > 0 which  $\Rightarrow$  that  $\exists$  a real root  $z_1 \in (0, 1)$ . At  $z = z_1$  (3.24) is converted in to

$$W_{1,0}(0) = \lambda W_{v}^{*} (\lambda - \lambda z_{1} + \beta) W_{0,0}.$$
(3.25)

(Sub.) (3.25) in (3.23), results

$$W_1(z,0) = \frac{\lambda W_v^* (\lambda - \lambda z + \beta) U(z)}{z(\lambda + \beta) - W_v^* (\lambda - \lambda z + \beta) (L^* (\lambda + \beta) (\lambda - \lambda z + \beta) + \lambda z)} W_{0,0}, \qquad (3.26)$$

where

$$U(z) = z(\lambda + \beta) - W_v^*(\lambda - \lambda z_1 + \beta)[\lambda z + L^*(\beta + \lambda)(\beta - \lambda z + \lambda)].$$

(Sub.) (3.25) in (3.24), results

$$W_{0}(z,0) = \frac{L^{*}(\beta+\lambda)\lambda z(\beta+\lambda)[W_{v}^{*}(\lambda-\lambda z+\beta)-W_{v}^{*}(\lambda-\lambda z_{1}+\beta)]}{z(\lambda+\beta)-W_{v}^{*}(\lambda-\lambda z+\beta)(L^{*}(\lambda+\beta)(\lambda-\lambda z+\beta)+\lambda z)}W_{0,0}.$$
(3.27)

(Sub.) (3.25) and (3.26) in (3.22), results

$$W_0^*(z,0) = \frac{(1 - L^*(\lambda + \beta)\lambda z)[W_v^*(\lambda - \lambda z + \beta) - W_v^*(\lambda - \lambda z_1 + \beta)]}{z(\lambda + \beta) - W_v^*(\lambda - \lambda z + \beta)(L^*(\lambda + \beta)(\lambda - \lambda z + \beta) + \lambda . z)}W_{0,0}.$$
(3.28)

Placing  $\theta = 0$  and (Sub.) (3.26), (3.27) and (3.28) in (3.20), results

$$W_1^*(z,0) = \frac{\lambda(1 - W_v^*(\lambda + \beta - \lambda z))U(z)}{(\lambda + \beta - \lambda z)\{(\beta + \lambda)z - W_v^*(\lambda + \beta - \lambda z)(L^*(\beta + \lambda)(\lambda + \beta - \lambda z) + \lambda z)\}}W_{0,0}.$$
 (3.29)

Summing over *h* from 1 to infinity  $\times$  (3.14) with  $z^h$  and results

$$R_0^*(z,\theta)(\theta-\lambda) = R_0(z,0) - G^*(\theta)[R_1(z,0) - R_{1,0}(0)] - G^*(\theta)[N(z,0) - N_0(0)] - W_0^*(z,0)\beta G^*(\theta).$$
(3.30)

(Sub.)  $W_{1,0}(0) = \lambda W_v^* (\lambda - \lambda z_1 + \beta) W_{0,0}$  in (3.1), we get

$$\alpha R_{0,0} + N_0(0) = \lambda (1 - W_v^* (\lambda - \lambda z_1 + \beta)) W_{0,0}$$

Placing  $\theta = \lambda$  and (Sub.)  $R_{1,0}(0) + N_0(0) = \lambda(1 - W_v^*(\lambda - \lambda z_1 + \beta))W_{0,0} + \lambda R_{0,0}$  in (3.30), results

 $R_{0}(z,0) = [R_{1}(z,0) + N(z,0) - \lambda(1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))W_{0,0} - \lambda R_{0,0} + \beta W_{0}^{*}(z,0)]G^{*}(\lambda).$ (3.31) Summing over *h* from 1 to infinity × (3.16) with *z<sup>h</sup>* and comprise with (3.15) results

$$R_{1}^{*}(z,\theta)[\theta - \lambda + \lambda z - \delta)] = R_{1}(z,0) - \left[\frac{R_{0}(z,0)}{z} + \beta W_{1}^{*}(z,0) + \lambda R_{0}^{*}(z,0) + \lambda R_{0,0}\right] R_{s}^{*}(\theta).$$
(3.32)

Placing  $\theta = 0$  and (Sub.) (3.31) and  $R_{1,0}(0) + N_0(0) = (1 - W_v^*(\lambda - \lambda z_1 + \beta))\lambda W_{0,0} + \lambda R_{0,0}$  in (3.26), results

$$R_0^*(z,0) = \left[\frac{(1-G^*(\lambda))}{\lambda}\right] \left[R_1(z,0) + N(z,0) - (1-W_v^*(\lambda-\lambda z_1+\beta))\lambda W_{0,0} - \lambda R_{0,0} + \beta W_0^*(z,0)\right].$$
(3.33)

Placing  $\theta = \lambda - \lambda z + \delta$  and (Sub.) in (3.32), results

$$R_1(z,0) = \left[\frac{R_0(z,0)}{z} + \beta W_1^*(z,0) + \lambda W_0^*(z,0) + \lambda R_{0,0}\right] R_s^*(\lambda - \lambda z + \delta).$$
(3.34)

Placing  $\theta$  = 0 and (Sub.) in (3.32), results

$$R_{1}^{*}(z,0) = \left[\frac{(1-R_{s}^{*}(\lambda-\lambda z+\delta))}{(\lambda-\lambda z+\delta)}\right] \left[\frac{R_{0}(z,0)}{z} + \beta W_{1}^{*}(z,0) + \lambda W_{0}^{*}(z,0) + \lambda R_{0,0}\right].$$
(3.35)

Summing over h from 1 to infinity  $\times$  (3.18) with  $z^h$  and comprise with (3.17) results

$$(\theta - \lambda + \lambda z)N^*(z,\theta) = N(z,0) - \delta N_r^*(\theta)R_1^*(z,0).$$
(3.36)

Placing  $\theta = (\lambda - \lambda z)$  and (Sub.) in (3.31), results

$$N(z,0) = \delta N_r^* (\lambda - \lambda z) R_1^*(z,0).$$
(3.37)

Communications in Mathematics and Applications, Vol. 13, No. 3, pp. 893–909, 2022

898

Placing 
$$\theta = 0$$
 and (Sub.) in (3.31), results  

$$N^*(z,0) = \frac{\delta(1 - N_r^*(\lambda - \lambda z))R_1^*(z,0)}{(\lambda - \lambda z)}.$$
(3.38)

Solving equations (3.31), (3.34) and (3.38) in (3.34), results

$$R_{0}(z,0) = \frac{\begin{bmatrix} G^{*}(\lambda)[\beta W_{0}^{*}(z,0) - (1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))\lambda W_{0,0} - \lambda R_{0,0}]z \\ \times (\lambda - \lambda z + \delta) + [\beta z W_{1}^{*}(z,0) + \lambda z R_{0,0}][(\lambda - \lambda z + \delta) \\ \times R_{s}^{*}(\lambda - \lambda z + \delta)) + \delta(1 - R_{s}^{*}(\lambda - \lambda z + \delta))N_{r}^{*}(\lambda - \lambda z)] \\ \hline Dr_{2}(z) , \qquad (3.39)$$

$$R_{1}(z,0) = \frac{\left[\begin{array}{c} (\lambda - \lambda z + \delta)R_{s}^{*}(\lambda - \lambda z + \delta)\left\{(G^{*}(\lambda)(1 - z) + z)[\beta W_{0}^{*}(z,0) \\ -(1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))\lambda W_{0,0} - \lambda R_{0,0}] + [\beta z W_{1}^{*}(z,0) + \lambda z R_{0,0}]\right\}}{Dr_{2}(z)}, \qquad (3.40)$$

$$N(z,0) = \frac{\left[\begin{array}{c} \delta(1 - R_s^*(\lambda - \lambda z + \delta))N_r^*(\lambda - \lambda z) \left\{ (G^*(\lambda)(1 - z) + z)(\beta W_0^*(z, 0) \\ -(1 - W_v^*(\lambda - \lambda z_1 + \beta))\lambda W_{0,0} - \lambda R_{0,0}) + [\beta z W_1^*(z, 0) + \lambda z R_{0,0}] \right\}}{Dr_2(z)} \right].$$
(3.41)

(Sub.) (3.39), (3.40), (3.41) in (3.33), (3.35) and (3.38)

$$R_{0}^{*}(z,0) = \frac{ \begin{bmatrix} (1-G^{*}(\lambda))[\beta W_{0}^{*}(z,0) - (1-W_{v}^{*}(\lambda-\lambda z_{1}+\beta))\lambda W_{0,0} - \lambda R_{0,0}] \\ z(\lambda-\lambda z+\delta) + [\beta z W_{1}^{*}(z,0) + \lambda z R_{0,0}][(\lambda-\lambda z+\delta) \\ \times R_{s}^{*}(\lambda-\lambda z+\delta)) + \delta(1-R_{s}^{*}(\lambda-\lambda z+\delta))N_{r}^{*}(\lambda-\lambda z)] \\ \lambda Dr_{2}(z) \end{bmatrix},$$
(3.42)

$$R_{1}^{*}(z,0) = \frac{\left[\begin{array}{c} (1 - R_{s}^{*}(\lambda - \lambda z + \delta)) \left\{ (G^{*}(\lambda)(1 - z) + z)(\beta W_{0}^{*}(z,0) \\ -(1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))\lambda W_{0,0} - \lambda R_{0,0}) + [\beta z W_{1}^{*}(z,0) + \lambda z R_{0,0}] \right\}}{Dr_{2}(z)}, \qquad (3.43)$$

$$N^{*}(z,0) = \frac{\left[\begin{array}{c} \delta(1 - N_{r}^{*}(\lambda - \lambda z))(1 - R_{s}^{*}(\lambda - \lambda z + \delta))\left\{(G^{*}(\lambda)(1 - z) + z)[-\lambda R_{0,0}\right]\\ \beta W_{0}^{*}(z,0) - (1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))\lambda W_{0,0}] + [\beta z W_{1}^{*}(z,0) + \lambda z R_{0,0}]\right\}}{(\lambda - \lambda z)Dr_{2}(z)}.$$
(3.44)

(Sub.) (3.28) and (3.29) in (3.42), (3.43), (3.44), results

$$\begin{split} Nr_{1}(z) &= \left\{ \beta z (\lambda - \lambda z + \delta) (\lambda + \beta - \lambda z) (W_{v}^{*} (\lambda + \beta - \lambda z) - W_{v}^{*} (\lambda + \beta - \lambda z_{1})) \\ &\times (1 - L^{*} (\lambda + \beta)) - (\lambda - \lambda z + \delta) (1 - W_{v}^{*} (\lambda + \beta - \lambda z_{1})) (\lambda + \beta - \lambda z) \\ &\times \left\{ (\beta + \lambda) z - W_{v}^{*} (\lambda + \beta - \lambda z) [\lambda z + (\lambda + \beta - \lambda z) L^{*} (\lambda + \beta)] \right\} - \frac{\lambda}{\alpha} \\ &\times (\lambda + \beta - \lambda z) (1 - W_{v}^{*} (\lambda + \beta - \lambda z_{1})) \left\{ (\beta + \lambda) z - W_{v}^{*} (\lambda + \beta - \lambda z) \\ &\times [\lambda z + (\lambda + \beta - \lambda z) L^{*} (\lambda + \beta)] \right\} (\lambda - \lambda z + \delta) + (1 - W_{v}^{*} (\lambda + \beta - \lambda z)) \\ &\times \beta [(\lambda - \lambda z + \delta) R_{s}^{*} (\lambda - \lambda z + \delta) + \delta N_{r}^{*} (\lambda - \lambda z) (1 - R_{s}^{*} (\lambda - \lambda z + \delta))] \\ &\times \left\{ (\beta + \lambda) z - W_{v}^{*} (\lambda + \beta - \lambda z_{1}) [\lambda z + (\lambda + \beta - \lambda z) L^{*} (\lambda + \beta)] \right\} \\ &+ (\lambda + \beta - \lambda z) [(\lambda - \lambda z + \delta) R_{s}^{*} (\lambda - \lambda z + \delta) + (1 - R_{s}^{*} (\lambda - \lambda z + \delta))) \\ &\times \delta N_{r}^{*} (\lambda - \lambda z) ] \frac{\lambda}{\alpha} \left\{ (\beta + \lambda) z - W_{v}^{*} (\lambda + \beta - \lambda z_{1}) [\lambda z + (\lambda + \beta - \lambda z)] \right\} \\ \end{split}$$

$$\times L^{*}(\lambda + \beta)] \{(1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))\}, \qquad (3.45)$$

$$Nr_{3}(z) = [G^{*}(\lambda)(1 - z) + z](1 - L^{*}(\lambda + \beta))[W_{v}^{*}(\lambda + \beta - \lambda z) - W_{v}^{*}(\lambda + \beta - \lambda z_{1})]$$

$$\times (\lambda + \beta - \lambda z) + \{z(\lambda + \beta) - W_{v}^{*}(\lambda + \beta - \lambda z_{1})(L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z))$$

$$+ \lambda z)\}\beta\lambda z(1 - W_{v}^{*}(\lambda + \beta - \lambda z)) - \lambda(1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))(\lambda + \beta - \lambda z)$$

$$\times [G^{*}(\lambda)(1 - z) + z][z(\lambda + \beta) - W_{v}^{*}(\lambda + \beta - \lambda z)(L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z))$$

$$+ \lambda z] - \frac{\lambda}{\alpha}(1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))(\lambda + \beta - \lambda z)\{z(\lambda + \beta) - W_{v}^{*}(\lambda + \beta - \lambda z)$$

$$\times (L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z) + \lambda z\}[G^{*}(\lambda)(1 - z) + z], \qquad (3.46)$$

$$R_0^*(z,0) = \frac{z(1-G^*(\lambda))W_{0,0}}{(\lambda+\beta-\lambda z)Dr_1(z)Dr_2(z)}Nr_1(z),$$
(3.47)

$$R_{1}^{*}(z,0) = \frac{(1 - R_{s}^{*}(\lambda - \lambda z))W_{0,0}}{Dr_{2}(z)(\lambda + \beta - \lambda z)Dr_{1}(z)}Nr_{3}(z),$$

$$(1 - R^{*}(\lambda - \lambda z))\delta(1 - N^{*}(\lambda - \lambda z))$$
(3.48)

$$N^{*}(z,0) = \frac{(1 - R_{s}^{*}(\lambda - \lambda z))\delta(1 - N_{r}^{*}(\lambda - \lambda z))}{(\lambda - \lambda z)(\lambda + \beta - \lambda z)Dr_{1}(z)Dr_{2}(z)}Nr_{3}(z).$$

$$(3.49)$$

We define  $R_S(z) = R_0^*(z,0) + R_1^*(z,0) + N^*(z,0) + R_{0,0}$ ,  $W_{0,0}$ 

$$R_{S}(z) = \frac{w_{0,0}}{(\lambda + \beta - \lambda z)(Dr_{1}(z)Dr_{2}(z))} \Big\{ z(1 - G^{*}(\lambda)) \Big\{ \beta z(\lambda - \lambda z + \delta)(\lambda + \beta - \lambda z) \\ \times (W_{v}^{*}(\lambda + \beta - \lambda z) - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))(1 - L^{*}(\lambda + \beta)) - (\lambda - \lambda z + \delta) \\ \times (1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))(\lambda + \beta - \lambda z) \Big\{ (\beta + \lambda)z - W_{v}^{*}(\lambda + \beta - \lambda z) [\lambda z \\ + (\lambda + \beta - \lambda z)L^{*}(\lambda + \beta)] \Big\} - \frac{\lambda}{a} \Big\{ (\beta + \lambda)z - [\lambda z + (\lambda + \beta - \lambda z)L^{*}(\lambda + \beta)] \\ \times W_{v}^{*}(\lambda + \beta - \lambda z) \Big\} (\lambda - \lambda z + \delta)(\lambda + \beta - \lambda z)(1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1})) \\ + \beta [\delta N_{r}^{*}(\lambda - \lambda z)(1 - R_{s}^{*}(\lambda - \lambda z + \delta)) + (\lambda - \lambda z + \delta)R_{s}^{*}(\lambda - \lambda z + \delta)] \\ \times (1 - W_{v}^{*}(\lambda + \beta - \lambda z)) \Big\{ (\beta + \lambda)z - W_{v}^{*}(\lambda + \beta - \lambda z_{1}) [\lambda z + (\lambda + \beta - \lambda z)) \Big\} \Big\} + (\lambda + \beta - \lambda z) \Big\} \Big\{ (1 - R_{s}^{*}(\lambda - \lambda z + \delta))\delta N_{r}^{*}(\lambda - \lambda z) \\ + (\lambda - \lambda z + \delta)R_{s}^{*}(\lambda - \lambda z + \delta)](1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1})) \Big\{ (\beta + \lambda)z \\ - W_{v}^{*}(\lambda + \beta - \lambda z_{1})[\lambda z + (\lambda + \beta - \lambda z)L^{*}(\lambda + \beta)] \Big\} \Big\} + \Big\{ (1 - L^{*}(\lambda + \beta)) \\ \times \beta z [\lambda z + (\lambda + \beta - \lambda z)G^{*}(\lambda)][W_{v}^{*}(\lambda + \beta - \lambda z) - W_{v}^{*}(\lambda + \beta - \lambda z_{1})] \\ - (1 - W_{v}^{*}(\lambda + \beta - \lambda z)G^{*}(\lambda))[W_{v}^{*}(\lambda + \beta - \lambda z)] + \beta z L^{*}(\beta + \lambda)[W_{v}^{*}(\lambda + \beta - \lambda z)] \\ - W_{v}^{*}(\lambda + \beta - \lambda z_{1})](\beta + \lambda)\Big\} (1 - R_{s}^{*}(\lambda - \lambda z))[\lambda - \lambda z + \delta(1 - N_{r}^{*}(\lambda - \lambda z))] \\ - \frac{\lambda}{a} \{ (\lambda + \beta)z - W_{v}^{*}(\lambda + \beta - \lambda z)[\lambda z + L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z)] (\lambda + \beta - \lambda z) \\ \times (1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))G^{*}(\lambda)(1 - z) \Big\}.$$
(3.50)

when the server is on RS period, as the PGF for the no of customers in the orbit.

We define  $W_v(z) = W_0^*(z,0) + W_1^*(z,0) + W_{0,0}$ 

$$\begin{split} W_{v}(z) &= \frac{W_{0,0}}{(\lambda + \beta - \lambda z)D_{1}(z)} \Big\{ (\lambda + \beta - \lambda z)\lambda z (1 - L^{*}(\lambda + \beta))(W_{v}^{*}(\lambda + \beta - \lambda z)) \\ &- W_{v}^{*}(\lambda + \beta - \lambda z_{1})) + \lambda \Big\{ z (\lambda + \beta) - (\lambda z + L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z))) \\ &\times W_{v}^{*}(\lambda + \beta - \lambda z_{1}) \Big\} (1 - W_{v}^{*}(\lambda + \beta - \lambda z)) + (\lambda + \beta - \lambda z)[z(\beta + \lambda)) \\ &- W_{v}^{*}(\lambda + \beta - \lambda z)(\lambda z + L^{*}(\beta + \lambda)(\lambda + \beta - \lambda z))] \Big\}, \end{split}$$

when the server is on WV period, as the PGF for the no of customers in orbit. Again, we define  $R(z) = R_S(z) + W_v(z)$ ,

$$\begin{split} R(z) &= \frac{W_{0,0}}{(\lambda + \beta - \lambda z)(D_{1}(z)D_{2}(z))} \Big\{ z(1 - G^{*}(\lambda)) \Big\{ \beta z(\lambda - \lambda z + \delta)(\lambda + \beta - \lambda z) \\ &\times (W_{v}^{*}(\lambda + \beta - \lambda z) - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))(1 - L^{*}(\lambda + \beta)) - (\lambda - \lambda z + \delta) \\ &\times (1 - W_{v}^{*}(\lambda + \beta - \lambda z))(\lambda + \beta - \lambda z) \{ (\beta + \lambda) z - W_{v}^{*}(\lambda + \beta - \lambda z) [\lambda z \\ &+ (\lambda + \beta - \lambda z)L^{*}(\lambda + \beta)] \Big\} - \frac{\lambda}{a} \Big\{ (\beta + \lambda) z - [\lambda z + (\lambda + \beta - \lambda z)L^{*}(\lambda + \beta)] \\ &\times W_{v}^{*}(\lambda + \beta - \lambda z) \Big\{ (\lambda - \lambda z + \delta)(\lambda + \beta - \lambda z)(1 - W_{v}^{*}(\lambda + \beta - \lambda z)) \\ &+ \beta [\delta N_{r}^{*}(\lambda - \lambda z)(1 - R_{s}^{*}(\lambda - \lambda z + \delta)) + (\lambda - \lambda z + \delta)R_{s}^{*}(\lambda - \lambda z + \delta)] \\ &\times (1 - W_{v}^{*}(\lambda + \beta - \lambda z)) \Big\{ (\beta + \lambda) z - W_{v}^{*}(\lambda + \beta - \lambda z_{1}) [\lambda z + (\lambda + \beta - \lambda z) \\ &\times L^{*}(\lambda + \beta)] \Big\} + (\lambda + \beta - \lambda z) \Big\} \Big\{ (1 - R_{s}^{*}(\lambda - \lambda z + \delta)) \delta N_{r}^{*}(\lambda - \lambda z) \\ &+ (\lambda - \lambda z + \delta)R_{s}^{*}(\lambda - \lambda z + \delta)](1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1})) \Big\{ (\beta + \lambda) z \\ &- W_{v}^{*}(\lambda + \beta - \lambda z_{1}) [\lambda z + (\lambda + \beta - \lambda z)L^{*}(\lambda + \beta)] \Big\} \Big\} + \Big\{ (1 - L^{*}(\lambda + \beta)) \\ &\times \beta z [\lambda z + (\lambda + \beta - \lambda z)G^{*}(\lambda)] [W_{v}^{*}(\lambda + \beta - \lambda z) - W_{v}^{*}(\lambda + \beta - \lambda z_{1})] \\ &- (1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1})) [(\beta + \lambda) z - [\lambda z + L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z)] \\ &\times W_{v}^{*}(\lambda + \beta - \lambda z_{1}) ](\beta + \lambda) \Big\} \Big\{ 1 - R_{s}^{*}(\lambda - \lambda z) \Big\} + \lambda z + \delta (1 - N_{r}^{*}(\lambda - \lambda z)) \Big] \\ &- W_{v}^{*}(\lambda + \beta - \lambda z_{1}) [(\beta + \lambda) [\lambda z + L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z)] (\lambda + \beta - \lambda z) \\ &\times (1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))G^{*}(\lambda)(1 - z) \Big\} + \Big\{ \lambda z (\lambda - \lambda z + \beta)(1 - L^{*}(\lambda + \beta)) \\ &\times (W_{v}^{*}(\lambda + \beta - \lambda z_{1}))G^{*}(\lambda)(1 - z) \Big\} + \Big\{ \lambda z (\lambda - \lambda z + \beta)(1 - L^{*}(\lambda + \beta)) \\ &\times (W_{v}^{*}(\lambda + \beta - \lambda z_{1}))G^{*}(\lambda)(1 - z) \Big\} + \Big\{ \lambda z (\lambda - \lambda z + \beta)(1 - L^{*}(\lambda + \beta)) \\ &\times (W_{v}^{*}(\lambda + \beta - \lambda z_{1}))G^{*}(\lambda + \beta - \lambda z_{1})) + \lambda (z (\lambda + \beta) - W_{v}^{*}(\lambda + \beta - \lambda z_{1}) \\ &\times (\lambda z + L^{*}(\beta + \lambda)(\lambda + \beta - \lambda z)) \Big\} \Big\{ z - R_{s}^{*}(\lambda - \lambda z) \\ &\times [z + (1 - z)R^{*}(\lambda)] \Big\} \Big\}, \end{split}$$

as the PGF for the no of customers in the orbit, where

$$Dr_{1}(z) = z(\lambda + \beta) - W_{v}^{*}(\lambda + \beta - \lambda z)[\lambda z + L^{*}(\lambda + \beta)(\lambda + \beta - \lambda z)],$$

$$Dr_{2}(z) = (\lambda - \lambda z + \delta)[z - R_{s}^{*}(\lambda - \lambda z + \delta)[G^{*}(\lambda)(1 - z) + z]$$
(3.52)

$$-\delta N_r^*(\lambda - \lambda z)(1 - R_s^*(\lambda - \lambda z + \delta))[G^*(\lambda)(1 - z) + z], \qquad (3.53)$$

where  $Dr_1(z)$  and  $Dr_2(z)$  are given in (3.53) and (3.54). Make use of the normalizing condition R(1) = 1 to find out that  $W_{0,0}$ . Using L'Hospitals rule and (Sub.) z = 1 results,

$$W_{0,0} = \frac{1 - \rho_s}{\left[ \begin{array}{c} \left\{ \frac{O(s)}{\beta G^*(\lambda) [\lambda + \beta - W_v^*(\beta)(\lambda + \beta L^*(\beta + \lambda))]} \right\} \\ - \left\{ \frac{P(s)}{G^*(\lambda) [\lambda + \beta - W_v^*(\beta)(\lambda + \beta L^*(\lambda + \beta))]} \right\} \\ + \left\{ \frac{\beta W_v^*(\lambda - \lambda z_1 + \beta) L^*(\beta + \lambda)(1 - G^*(\lambda))}{G^*(\lambda) [\lambda + \beta - W_v^*(\beta)(\lambda + \beta L^*(\beta + \lambda))]} + Q \right\} \end{array} \right]},$$
(3.54)  
$$R_{0,0} = \frac{\lambda}{\alpha} (1 - W_v^*(\lambda - \lambda z_1 + \beta)) W_{0,0},$$
(3.55)

where

$$\begin{split} O(s) &= (\lambda - \lambda W_v^* (\lambda - \lambda z_1 + \beta) + \beta) [\lambda + \beta G^* (\lambda) - W_v^* (\beta) (\lambda + \beta L^* (\lambda + \beta))], \\ P(s) &= \frac{\lambda}{\delta} W_v^* (\beta) [1 - R_s^* (\delta)] [1 + \delta E(N_r)] [\lambda + \beta - W_v^* (\lambda - \lambda z_1 + \beta) (\lambda + \beta L^* (\beta + \lambda))], \\ Q &= \frac{\lambda}{\alpha} (1 - W_v^* (\lambda + \beta - \lambda z_1)), \\ \rho_s &< 1, \\ \rho_s &= \frac{\frac{\lambda}{\delta} [1 - R_s^* (\delta)] [1 + \delta E(N_r)]}{G^* (\lambda)}. \end{split}$$

# 4. Performance Measures

#### **Mean Orbit Length**

We assume that:

 $W_v, R_s$  — mean orbit size in WV and RS period.

 $W_{vw}, R_{sw}$  — mean waiting time of the customer in the orbit during WV period and RS period. Then

$$\begin{split} W_{v} &= \frac{d}{dz} W_{v}(z) \Big|_{z=1} \\ &= \frac{d}{dz} [W_{1}^{*}(z,0) + W_{0}^{*}(z,0)] \Big|_{z=1} \\ &= \frac{d}{dz} \left[ \frac{S(z)}{(\beta - \lambda z + \lambda) Dr_{1}(z)} + \frac{K(z)}{Dr_{1}(z)} \right] W_{0,0} \Big|_{z=1} \\ &= \left[ \frac{\left[ -Dr'_{1}(z)S(z)[(\beta - \lambda z + \lambda) - Dr_{1}(z)\lambda] + Dr_{1}(z)(\lambda - \lambda z + \beta)S'(z)]\right]}{Dr_{1}(z)^{2}(\beta - \lambda z + \lambda)} \\ &+ \left[ \frac{K'(z)Dr_{1}(z) - Dr'_{1}(z)K(z)}{(Dr_{1}(z))^{2}} \right] \right] \times W_{0,0} \Big|_{z=1}, \end{split}$$

where

$$\begin{split} S(z) &= \lambda (1 - W_v^* (\lambda + \beta - \lambda z)) [z(\lambda + \beta) - W_v^* (\lambda + \beta - \lambda z_1) (L^* (\lambda + \beta) (\lambda + \beta - \lambda z) + \lambda z)], \\ K(z) &= \lambda z (1 - L^* (\lambda + \beta)) (W_v^* (\lambda + \beta - \lambda z) - W_v^* (\lambda + \beta - \lambda z_1)), \end{split}$$

$$Dr_1(z) = z(\lambda + \beta) - W_v^*(\lambda + \beta - \lambda z)(L^*(\lambda + \beta)(\lambda + \beta - \lambda z) + \lambda z).$$

Differentiating S(z), K(z) and  $Dr_1(z)$  with respect to z, we get

$$\begin{split} S'(z) &= \lambda^2 W_v^{*'}(\lambda + \beta - \lambda z) [z(\lambda + \beta) - [(\beta - \lambda z + \lambda)L^*(\lambda + \beta) + \lambda z] \\ &\times W_v^*(\lambda + \beta - \lambda z_1) + \lambda [\lambda + \beta - (\lambda - \lambda L^*(\lambda + \beta)) \\ &\times W_v^*(\lambda + \beta - \lambda z_1)](1 - W_v^*(\lambda + \beta - \lambda z)), \\ K'(z) &= (1 - L^*(\beta + \lambda))\lambda(W_v^*(\lambda + \beta - \lambda z) - W_v^*(\lambda + \beta - \lambda z_1)) \\ &+ \lambda z(1 - L^*(\beta + \lambda))(-\lambda W_v^{*'}(\lambda + \beta - \lambda z)), \\ Dr'_1(z) &= (\beta + \lambda) + \lambda W_v^{*'}(\lambda + \beta - \lambda z)(\lambda z + L^*(\beta + \lambda)(\lambda + \beta - \lambda z)) \\ &- W_v^*(\lambda + \beta - \lambda z)(\lambda - \lambda L^*(\lambda + \beta)). \end{split}$$

At  $z = 1 W_v$  turns,

$$W_{v} = \left[\frac{\beta Dr_{1}(1)S'(1) - S(1)[\beta Dr'_{1}(1) - \lambda Dr_{1}(1)]}{(\beta Dr_{1}(1))^{2}} + \frac{Dr_{1}(1)K'(1) - K(1)Dr'_{1}(1)}{(Dr_{1}(1))^{2}}\right]W_{0,0}$$

By Little's formula,

$$W_{vw}=rac{W_v}{\lambda}$$
,

where

$$\begin{split} S(1) &= \lambda (1 - W_v^*(\beta)) [\beta + \lambda - W_v^*(\lambda - \lambda z_1 + \beta)(\lambda + \beta L^*(\beta + \lambda))], \\ S'(1) &= \lambda^2 W_v^{*'}(\beta) [\lambda + \beta - W_v^*(\lambda + \beta - \lambda z_1)(\lambda + \beta L^*(\lambda + \beta))] \\ &+ \lambda (1 - W_v^*(\beta)) [\lambda + \beta - W_v^*(\lambda + \beta - \lambda z_1)(\lambda - \lambda L^*(\lambda + \beta))], \\ K(1) &= \lambda (1 - L^*(\beta + \lambda)) (W_v^*(\beta) - W_v^*(\beta - \lambda z_1 + \lambda)), \\ K'(1) &= \lambda (1 - L^*(\beta + \lambda)) [W_v^*(\beta) - W_v^*(\beta + \lambda - \lambda z_1) - W_v^{*'}(\beta)\lambda], \\ Dr_1(1) &= \beta - (\lambda + \beta L^*(\beta + \lambda)) W_v^*(\beta) + \lambda, \\ Dr'_1(1) &= \beta + \lambda W_v^{*'}(\beta)(\lambda + L^*(\lambda + \beta)\beta) + \lambda - (\lambda - \lambda L^*(\lambda + \beta)) W_v^*(\beta), \\ R_s &= \frac{d}{dz} R_S(z) \Big|_{z=1} \\ &= \frac{d}{dz} \Big[ \frac{Nr_1(z)(1 - G^*(\lambda)) + Nr_2(z)Nr_3(z)}{Dr_1(z)(\lambda - \lambda z + \beta)Dr_2(z)} \Big] W_{0,0} \Big|_{z=1} \\ &= \frac{d}{dz} \Big[ \frac{Dr'_2(z)2Nr'_1(z)(\lambda Dr_1(z) - (\lambda + \beta - \lambda z)Dr'_1(z)))}{P(1-\alpha^*(\lambda)) + 2(\beta - \lambda z + \lambda)Nr'_2(z)Dr'_2(z)Nr'_1(z))]} \\ &= \frac{(1 - G^*(\lambda)) + 2(\beta - \lambda z + \lambda)Nr'_2(z)Dr'_2(z)(Nr'_3(z)Dr_1(z))}{2(Dr_1(z)(\lambda + \beta - \lambda z)Dr''_2(z))P_1(z)} W_{0,0} \Big|_{z=1}, \end{split}$$

where

$$Nr_{1}(z) = \left\{\beta z(\lambda - \lambda z + \delta)(\lambda + \beta - \lambda z)(W_{v}^{*}(\lambda + \beta - \lambda z) - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))\right\}$$

$$\begin{split} \times (1-L^*(\lambda+\beta)) - (\lambda-\lambda z+\delta)(1-W_v^*(\lambda+\beta-\lambda z_1))(\lambda+\beta-\lambda z) \\ \times \left\{ (\beta+\lambda)z - W_v^*(\lambda+\beta-\lambda z)[\lambda z+(\lambda+\beta-\lambda z)L^*(\lambda+\beta)] \right\} - \frac{\lambda}{\alpha} \\ \times (\lambda+\beta-\lambda z)(1-W_v^*(\lambda+\beta-\lambda z_1)) \left\{ (\beta+\lambda)z - W_v^*(\lambda+\beta-\lambda z) \right\} \\ \times [\lambda z+(\lambda+\beta-\lambda z)L^*(\lambda+\beta)] \left\{ (\lambda-\lambda z+\delta) + (1-W_v^*(\lambda+\beta-\lambda z)) \right\} \\ \times \left[ (\lambda-\lambda z+\delta)R_s^*(\lambda-\lambda z+\delta) + \delta N_r^*(\lambda-\lambda z)(1-R_s^*(\lambda-\lambda z+\delta))] \right] \\ \times \left\{ (\beta+\lambda)z - W_v^*(\lambda+\beta-\lambda z_1)[\lambda z+(\lambda+\beta-\lambda z)L^*(\lambda+\beta)] \right\} \\ + (\lambda+\beta-\lambda z)[(\lambda-\lambda z+\delta)R_s^*(\lambda-\lambda z+\delta) + (1-R_s^*(\lambda-\lambda z+\delta))] \\ \times \delta N_r^*(\lambda-\lambda z)] \frac{\lambda}{\alpha} \left\{ (\beta+\lambda)z - W_v^*(\lambda+\beta-\lambda z_1)[\lambda z+(\lambda+\beta-\lambda z)] \right\} \\ \times L^*(\lambda+\beta)] \left\{ (1-W_v^*(\lambda+\beta-\lambda z_1)) \right\}, \\ Dr_1(z) = (\lambda+\beta)z - W_v^*(\lambda+\beta-\lambda z)[L^*(\lambda+\beta)(\lambda+\beta-\lambda z) + \lambda z], \\ Dr_2(z) = (\lambda-\lambda z+\delta)[z-R_s^*(\lambda-\lambda z+\delta)]G^*(\lambda)(1-z) + z] \\ -\delta N_r^*(\lambda-\lambda z)(1-R_s^*(\lambda-\lambda z+\delta))[G^*(\lambda)(1-z) + z], \\ Nr_3(z) = [G^*(\lambda)(1-z) + z](1-L^*(\lambda+\beta))[W_v^*(\lambda+\beta-\lambda z_1)(L^*(\lambda+\beta)(\lambda+\beta-\lambda z))] \\ \times (\lambda+\beta-\lambda z) + (z(\lambda+\beta) - W_v^*(\lambda+\beta-\lambda z_1)(L^*(\lambda+\beta)(\lambda+\beta-\lambda z)) \\ \times [G^*(\lambda)(1-z) + z][z(\lambda+\beta) - W_v^*(\lambda+\beta-\lambda z)(L^*(\lambda+\beta)(\lambda+\beta-\lambda z)) + \lambda z] \\ - \frac{\lambda}{\alpha} (1-W_v^*(\lambda+\beta-\lambda z_1))(\lambda+\beta-\lambda z)[z(\lambda+\beta) - W_v^*(\lambda+\beta-\lambda z)] \\ \times (L^*(\lambda+\beta)(\lambda+\beta-\lambda z) + \lambda z)[G^*(\lambda)(1-z) + z]. \end{split}$$

At  $z = 1 R_s$  turns,

$$R_{s} = \frac{ \begin{bmatrix} (1-G^{*}(\lambda)) [2Nr'_{1}(1)Dr'_{2}(1)(\lambda Dr_{1}(1) - \beta Dr'_{1}(1)) + \beta Dr_{1}(1) \\ (Dr'_{2}(1)Nr''_{1}(1) - Nr'_{1}(1)Dr''_{2}(1))] + 2\beta Nr'_{2}(1)Dr'_{2}(1) \\ (Dr_{1}(1)Nr'_{3}(1) - Nr_{3}(1)Dr'_{1}(1)) + Nr_{3}(1)Dr_{1}(1)[2\lambda \\ Nr'_{2}(1)Dr'_{2}(1) + \beta Dr'_{2}(1)Nr''_{2}(1) - \beta Nr'_{2}(1)Dr''_{2}(1)] \\ \hline 2(\beta Dr_{1}(1)Dr'_{2}(1))^{2} W_{0,0} \,. \end{cases}$$

By Little's formula,

$$R_{sw}=\frac{R_s}{\lambda},$$

where

$$\begin{split} Nr_{3}(1) &= (1 - W_{v}^{*}(\beta))\{\beta G^{*}(\lambda)W_{v}^{*}(\lambda + \beta - \lambda z_{1})(\lambda + \beta L^{*}(\beta + \lambda)) - \beta \lambda - \beta \lambda G^{*}(\lambda) \\ &- \beta^{2}G^{*}(\lambda)\} + (1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))\{-\lambda^{2}(1 - W_{v}^{*}(\beta)) + \beta \lambda W_{v}^{*}(\beta) \\ &\times L^{*}(\lambda + \beta)\} + \beta^{2}L^{*}(\lambda + \beta)(W_{v}^{*}(\beta) - W_{v}^{*}(\lambda - \lambda z_{1} + \beta)) - \frac{\lambda}{\alpha}\beta G^{*}(\lambda) \\ &\times \{\lambda + \beta - W_{v}^{*}(\beta)(L^{*}(\beta + \lambda)\beta + \lambda)\}(1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta)), \end{split}$$

$$\begin{split} Nr'_{3}(1) &= (W_{v}^{*}(\beta) - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))[(1 - L^{*}(\lambda + \beta))(\beta\lambda(1 - G^{*}(\lambda)) + \beta^{2}G^{*}(\lambda)) \\ &+ \beta^{2}L^{*}(\lambda + \beta)] + G^{*}(\lambda)(\lambda + \beta + \lambda W_{v}^{*}(\beta))(\beta W_{v}^{*}(\lambda - \lambda z_{1} + \beta) - \lambda) \\ &- \beta\lambda L^{*}(\lambda + \beta)(1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))(W_{v}^{*}(\beta) + \beta W_{v}^{*'}(\beta)) + \lambda G^{*}(\lambda) \\ &\times W_{v}^{*}(\lambda - \lambda z_{1} + \beta)[\lambda + \beta - \beta W_{v}^{*}(\beta)L^{*}(\beta + \lambda) + \lambda W_{v}^{*}(\beta)] - \beta G^{*}(\lambda) \\ &\times [\lambda + \beta - \lambda^{2}W_{v}^{*'}(\beta) + \lambda W_{v}^{*}(\beta)] + [\lambda W_{v}^{*'}(\beta)(\beta L^{*}(\beta + \lambda) - \lambda) + \lambda W_{v}^{*}(\beta) \\ &\times W^{*}(\lambda + \beta)][\beta G^{*}(\lambda)W_{v}^{*}(\lambda - \lambda z_{1} + \beta) - \lambda(1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1}))] \\ &+ \frac{\lambda}{a}G^{*}(\lambda)(1 - W_{v}^{*}(\lambda - \lambda z_{1} + \beta))\{\lambda(\beta + \lambda) - 2\lambda\beta W_{v}^{*}(\beta)L^{*}(\lambda + \beta) \\ &- \lambda^{2}W_{v}^{*}(\beta) - \lambda^{2}\beta W_{v}^{*'}(\beta) - \lambda\beta^{2}W_{v}^{*'}(\beta)L^{*}(\lambda + \beta) + \lambda\beta W_{v}^{*}(\beta) - \beta(\beta + \lambda)\}, \\ Nr'_{1}(1) &= -\beta\lambda\delta W_{v}^{*}(\beta) + \beta[-\lambda R_{s}^{*}(\delta) + \lambda\delta R_{s}^{*}(\delta)E(N_{r}) - \lambda\delta R_{s}^{*}(\delta)E(N_{r})](1 - W_{v}^{*}(\beta)) \\ &\times [\lambda + \beta - \beta W_{v}^{*}(\lambda - \lambda z_{1} + \beta)L^{*}(\beta + \lambda) - \lambda W_{v}^{*}(\lambda + \beta - \lambda z_{1})] - \beta^{2}\delta W_{v}^{*}(\beta) \\ &\times L^{*}(\beta + \lambda) + \beta^{2}\delta W_{v}^{*}(\lambda - \lambda z_{1} + \beta)L^{*}(\beta + \lambda) + \lambda\delta[\beta + \lambda - \beta L^{*}(\lambda + \beta) \\ &\times W_{v}^{*}(\beta)L^{*}(\lambda + \beta) - \lambda\beta^{2}W_{v}^{*}(\beta) - \lambda\beta^{2}L^{*}(\lambda + \beta)W_{v}^{*}(\beta) - \lambda z_{1} + \beta) \\ &\times W_{v}^{*}(\beta)L^{*}(\lambda + \beta) - \lambda\beta^{2}W_{v}^{*}(\beta - \lambda z_{1}) + \beta W_{v}^{*}(\beta)W_{v}^{*}(\lambda - \lambda z_{1} + \beta) \\ &\times L^{*}(\lambda + \beta) + \lambda^{2}\beta W_{v}^{*}(\beta)W_{v}^{*}(\lambda - \lambda z_{1} + \beta) + \lambda^{2}\beta \\ &+ \lambda\beta^{2} - \lambda^{2}\beta W_{v}^{*}(\beta)W_{v}^{*}(\lambda - \lambda z_{1} + \beta) + \lambda\beta^{2}W_{v}^{*}(\beta)W_{v}^{*}(\lambda - \lambda z_{1} + \beta) \\ &\times L^{*}(\lambda + \beta) + \lambda^{2}\beta W_{v}^{*}(\beta)W_{v}^{*}(\lambda - \lambda z_{1} + \beta) + \frac{\lambda}{a}\beta(1 - W_{v}^{*}(\lambda + \beta - \lambda z_{1})) \\ &\times [\lambda - \lambda\delta R_{s}^{*}(\delta) - \lambda R_{s}^{*}(\delta) + \lambda\delta R_{s}^{*'}(\delta) + \lambda\delta E(N_{r}) - \lambda\delta E(N_{r})R_{s}^{*}(\delta)] \\ &\times ((\lambda + \beta) + W_{v}^{*}(\beta)[\lambda + \beta L^{*}(\lambda + \beta)]], \end{split}$$

$$\begin{split} Nr_{1}^{\prime\prime}(1) &= [\lambda + \beta - \lambda W_{v}^{*}(\lambda + \beta - \lambda z_{1})][(1 - W_{v}^{*}(\beta))[-4\lambda\beta\delta R_{s}^{*}(\delta)E(N_{r}) - 4\lambda\beta R_{s}^{*}(\delta) \\ &+ 4\lambda\beta\delta E(N_{r})] + 2\lambda\beta(1 + \delta W_{v}^{*\prime}(\beta)) + [R_{s}^{*}(\delta) - \delta E(N_{r}) + \delta R_{s}^{*}(\delta)E(N_{r})] \\ &\times (1 - W_{v}^{*}(\beta))[2\lambda\beta^{2}W_{v}^{*}(\lambda + \beta - \lambda z_{1})L^{*}(\lambda + \beta) - 2\lambda^{2}\beta W_{v}^{*}(\lambda + \beta - \lambda z_{1})] \\ &\times L^{*}(\lambda + \beta)] + 4\lambda\delta(1 - W_{v}^{*}(\beta))(\lambda + \beta) - 2\beta^{2}\delta[W_{v}^{*}(\beta) - W_{v}^{*}(\lambda + \beta - \lambda z_{1})] \\ &- \lambda\beta^{2}\delta W_{v}^{*\prime}(\beta)W_{v}^{*}(\lambda + \beta - \lambda z_{1})L^{*}(\lambda + \beta) + \lambda^{2}\beta\delta W_{v}^{*\prime}(\beta)W_{v}^{*}(\lambda + \beta - \lambda z_{1})] \\ &\times L^{*}(\lambda + \beta) - \lambda^{2}\beta\delta W_{v}^{*\prime\prime}(\beta)[2\lambda + \beta - \beta L^{*}(\lambda + \beta) - 2\lambda W_{v}^{*}(\lambda + \beta - \lambda z_{1})] \\ &+ \lambda^{3}\beta W_{v}^{*\prime}(\beta)[\delta E(N_{r}) - R_{s}^{*}(\delta) - \delta R_{s}^{*}(\delta)E(N_{r})] - \lambda^{2}\beta W_{v}^{*\prime}(\beta)[\beta\delta R_{s}^{*\prime}(\delta) \\ &+ R_{s}^{*}(\delta) - \beta R_{s}^{*}(\delta)W_{v}^{*}(\lambda + \beta - \lambda z_{1})L^{*}(\lambda + \beta) + \beta\delta E(N_{r})W_{v}^{*}(\lambda + \beta - \lambda z_{1}) \\ &\times L^{*}(\lambda + \beta)(1 - R_{s}^{*}(\delta))] - 3\lambda^{2}\beta W_{v}^{*}(\lambda + \beta - \lambda z_{1}) + 3\lambda\beta^{2}W_{v}^{*}(\lambda + \beta - \lambda z_{1}) \\ &- 4\lambda\beta^{2}W_{v}^{*}(\beta) + 2\lambda\beta L^{*}(\lambda + \beta)W_{v}^{*}(\beta)(\lambda + \beta) + 2\lambda\beta L^{*}(\lambda + \beta)(\lambda - 2\beta) \\ &\times W_{v}^{*}(\lambda + \beta - \lambda z_{1}) - \lambda\beta\delta L^{*}(\lambda + \beta)W_{v}^{*}(\lambda + \beta - \lambda z_{1}) + 2\lambda^{2}\beta^{2}W_{v}^{*\prime}(\beta) \\ &- 2\lambda^{2}\beta W_{v}^{*}(\beta)[1 + L^{*}(\lambda + \beta)W_{v}^{*}(\lambda + \beta - \lambda z_{1})] + 2\lambda\beta W_{v}^{*}(\lambda + \beta - \lambda z_{1}) \\ &\times W_{v}^{*}(\beta)[2\lambda + \beta L^{*}(\lambda + \beta)] - 2W_{v}^{*}(\lambda + \beta - \lambda z_{1})(1 - 2W_{v}^{*}(\lambda + \beta - \lambda z_{1})) \\ &\times \lambda^{2}\delta + \beta(1 - W_{v}^{*}(\beta))[2\lambda^{2}R_{s}^{*\prime}(\delta) + \lambda^{2}\delta(1 - R_{s}^{*}(\delta))E(N_{r}^{2}) + 2\lambda^{2}\delta R_{s}^{*\prime}(\delta) \\ &\times E(N_{r})][\lambda + \beta - W_{v}^{*}(\lambda + \beta - \lambda z_{1})(\lambda + \beta L^{*}(\lambda + \beta))] + \frac{\lambda}{a} \Big\{ 2\lambda\beta [\lambda + \beta - \lambda Z_{1})(\lambda + \beta L^{*}(\lambda + \beta))] \Big\} \Big\}$$

$$\begin{split} &+\lambda W_{v}^{*'}(\beta)(\lambda+\beta L^{*}(\lambda+\beta))-W_{v}^{*}(\beta)(\lambda-\lambda L^{*}(\lambda+\beta))][\delta E(N_{r})-R_{s}^{*}(\delta)\\ &-\delta E(N_{r})R_{s}^{*}(\delta)+1]+[\lambda+\beta-W_{v}^{*}(\beta)(\lambda+\beta L^{*}(\lambda+\beta))]\{2\lambda^{2}(R_{s}^{*}(\delta)-1\\ &+\beta R_{s}^{*'}(\delta))+\lambda^{2}\delta(1-R_{s}^{*}(\delta))[\beta E(N_{r}^{2})-2E(N_{r})]\}\Big\}(1-W_{v}^{*}(\lambda+\beta-\lambda z_{1})),\\ Nr_{2}'(1)=-\lambda[1-R_{s}^{*}(\delta)][1+\delta E(N_{r})],\\ Nr_{2}''(1)=-2\lambda R_{s}^{*'}(\delta)[1+\delta E(N_{r})]-\lambda^{2}\delta E(N_{r}^{2})(1-R_{s}^{*}(\delta)),\\ Dr_{1}(1)=\beta+\lambda-(\lambda+\beta L^{*}(\beta+\lambda))W_{v}^{*'}(\beta),\\ Dr_{1}'(1)=\beta+\lambda+\lambda(\lambda+\beta L^{*}(\lambda+\beta))W_{v}^{*'}(\beta)-\lambda(1-L^{*}(\lambda+\beta))W_{v}^{*}(\beta),\\ Dr_{2}'(1)=-\lambda+\lambda R_{s}^{*}(\delta)-\lambda\delta E(N_{r})+\lambda\delta E(N_{r})R_{s}^{*}(\delta)+\delta G^{*}(\lambda),\\ Dr_{2}''(1)=-2\lambda[1+\lambda R_{s}^{*'}(\delta)+\lambda R_{s}^{*'}(\delta)(1-G^{*}(\lambda))]+\delta[R_{s}^{*'}(\delta)(1-G^{*}(\lambda))-\lambda^{2}R_{s}^{*''}(\delta)\\ &+\lambda(1-G^{*}(\lambda))R_{s}^{*'}(\delta)]-\lambda^{2}\delta E(N_{r}^{2})(1-R_{s}^{*}(\delta))-\lambda^{2}\delta E(N_{r})R_{s}^{*'}(\delta)\\ &-\lambda\delta E(N_{r})(1-R_{s}^{*}(\delta))(1-G^{*}(\lambda)), \end{split}$$

where  $E(N_r)$  is the mean repair times for regular service time.

#### 5. Special Cases

- (i) If the service time distribution follows an exponential distribution, no service among the vacation period and there is no negative arrival then the present model will be remodeled as "Time dependent analysis of M/M/1 queue with server vacations and a waiting server".
- (ii) If the server does not wait after the completion of the RS period and there is no negative arrival then the present model will be remodeled as "An M/G/1 retrial queue with multiple working vacation".
- (iii) If the server does not wait after the completion of the RS period, there is no negative arrival and there is no retrial time in the system then the present model will be remodeled as "An M/G/1 queue with multiple working vacation".
- (iv) If the server does not wait after the completion of the RS period, there is no negative arrival and the server never takes the vacation then the present model will be remodeled as "An M/G/1 retrial queue".
- (v) If the server does not wait after the completion of the RS period, there is no negative arrival, the server never takes the vacation and there is no retrial time in the system then the present model will be remodeled as "An M/G/1 queue".

## 6. Numerical Result and Graphical Analysis

The values tabulated in Table 1 and the curved graph constructed in Figure 1 are obtained by setting the fixed values  $\mu_v = 7.6$ ,  $\mu_s = 9.8$ ,  $\mu_{vr} = 3.5$ ,  $\mu_{sr} = 4.3$ ,  $\alpha = 0.9$ ,  $\delta = 0.5$  and varying the value of  $\lambda$  from 1 to 2 incremented with 0.2 and extending the values of  $\beta$  from 1.5 to 1.9 in steps of 0.2, we observed that as  $\lambda$  rises  $W_v$  also rises and hence the stability of the model is verified.

λ	$\beta = 1.5$	$\beta = 1.7$	$\beta = 1.9$
1.0	0.0775	0.0660	0.0571
1.2	0.1122	0.0952	0.0821
1.4	0.1521	0.1285	0.1104
1.6	0.1960	0.1650	0.1414
1.8	0.2426	0.2036	0.1739
2.0	0.2904	0.2428	0.2069



**Table 1.**  $W_v$  with turn over of  $\lambda$ 



The values tabulated in Table 2 and the curved graph constructed in Figure 2 are obtained by setting the fixed values  $\mu_v = 7.6$ ,  $\mu_s = 9.8$ ,  $\mu_{vr} = 3.5$ ,  $\mu_{sr} = 4.3$ ,  $\alpha = 2.5$ ,  $\delta = 0.5$  and varying the value of  $\lambda$  from 1 to 2 incremented with 0.2 and extending the values of  $\beta$  from 1 to 1.8 in steps of 0.4. We observed that as  $\lambda$  rises  $W_{vw}$  also rises which is expected.



**Table 2.**  $W_{vw}$  with turn over of  $\lambda$ 



**Figure 2.**  $W_{vw}$  with turn over of  $\lambda$ 

The values tabulated in Table 3 and the curved graph constructed in Figure 3 and are obtained by setting the fixed values  $\mu_v = 0.1$ ,  $\mu_s = 9$ ,  $\mu_{vr} = 1.5$ ,  $\mu_{sr} = 4.5$ ,  $\alpha = 0.6$ ,  $\delta = 0.3$  and varying the values of  $\lambda$  from 1 to 2 incremented with 0.2 and extending the values of  $\beta$  from 0.4 to 0.6 in steps of 0.1. We observed that as  $\lambda$  rises  $R_s$  also rises which shows the stability of the model.



**Table 3.**  $R_s$  with turn over of  $\lambda$ 

**Figure 3.**  $R_s$  with turn over of  $\lambda$ 

The values tabulated in Table 4 and the curved graph constructed in Figure 4 are obtained by setting the fixed values  $\mu_v = 0.8$ ,  $\mu_s = 5$ ,  $\mu_{vr} = 1.5$ ,  $\mu_{sr} = 4.5$ ,  $\alpha = 0.6$ ,  $\delta = 0.3$  and altering the

value of  $\lambda$  from 1 to 2 incremented with 0.1 and extending the values of  $\beta$  from 0.4 to 0.6 in steps of 0.1. From the graph, we studied that as  $\lambda$  rises  $R_{sw}$  also rises which shows the stability of the model.

λ	$\beta = 0.4$	$\beta = 0.5$	$\beta = 0.6$
1.0	1.0479	0.4801	0.1400
1.2	1.4111	0.7081	0.2872
1.4	1.8176	0.9835	0.4842
1.6	2.2680	1.3103	0.7370
1.8	2.7594	1.6910	1.0513
2.0	3.2772	2.1207	1.4284

**Table 4.**  $R_{sw}$  with turn over of  $\lambda$ 



**Figure 4.**  $R_{sw}$  with turn over of  $\lambda$ 

# 7. Conclusion

In this paper, an M/G/1 retrial G-queue with multiple working vacation and a waiting server is evaluated. We obtained the PGF for the number of customers and the mean number of customers in the orbit. We worked out the waiting time distribution. We also derived the performance measures. We performed some particular cases. We illustrate some numerical results.

## Acknowledgement

We express our sincere thanks to the team of peer-reviewers and editors of the journal to bring this article in the present enriched form.

## **Competing Interests**

The authors declare that they have no competing interests.

## **Authors' Contributions**

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

## References

- J. R. Artalejo, Accessible bibliography on retrial queue: Progress in 2000–2009, Mathematical and Computer Modelling 51(9-10) (2010), 1071 – 1081, DOI: 10.1016/j.mcm.2009.12.011.
- [2] J. Artalejo and G. Falin, Standard and retrial queueing systems: a comparative analysis, *Revista Matemática Complutense* 15(1) (2002), 101 129, DOI: 10.5209/rev\_REMA.2002.v15.n1.16950.
- [3] O.J. Boxma, S. Schlegel and U. Yechiali, A note on an M/G/1 queue with a waiting server, timer, and vacations, in: Analytic Methods in Applied Probability: In Memory of Fridrikh Karpelevich, American Mathematical Society Translations: Series 2, Vol. 207 (2002), 25 – 35, DOI: 10.1090/trans2/207.

- [4] V. M. Chandrasekaran, K. Indhira, M. C. Saravanarajan and P. Rajadurai, A survey on working vacation queueing models, *International Journal of Pure and Applied Mathematics* 106 (2016), 33 – 41.
- [5] G. Falin, A survey on retrial queues, Queueing Systems 7 (1990), 127 168, DOI: 10.1007/BF01158472.
- [6] A. Gomez-Corral, Stochastic analysis of a single server retrial queue with general retrial time, Naval Research Logistics 46 (1999), 561 – 581, URL: https://doi.org/10.1002/(SICI)1520-6750(199908)46:5%3C561::AID-NAV7%3E3.0.CO;2-G
- [7] K. Kalidass and K. Ramanath, Time dependent analysis of M/M/1 queue with server vacations and a waiting server, in: QTNA'11: Proceedings of the 6th International Conference on Queueing Theory and Network Applications (2011), 77 – 83, DOI: 10.1145/2021216.2021227.
- [8] R. Kalyanaraman and S. P. B. Murugan, A single server retrial queue with vacation, Journal of Applied Mathematics & Informatics 26 (2008), 721 – 732, URL: http://jami.or.kr/out/ 12260224038033839.pdf.
- [9] S. P. B. Murugan and K. Santhi, An M/G/1 retrial queue with multiple working vacation, International Journal of Mathematics and its Applications 4 (2016), 35 – 48.
- [10] S. P. B. Murugan and R. Vijaykrishnaraj, A bulk arrival retrial G-queue with exponentially distributed multiple vacation, *High Technology Letters* 26 (2020), 582 – 590, URL: http://www.gjstxe.cn/gallery/61-may2020.pdf.
- [11] L. D. Servi and S. G. Finn, M/M/1 queues with working vacations (M/M/1/WV), Performance Evaluation 50(1) (2002), 41 – 52, DOI: 10.1016/S0166-5316(02)00057-3.
- [12] T. Takine and T. Hasegawa, A note on M/G/1 vacation systems with waiting time limits, Advances in Applied Probability 22 (1990), 513 – 518, DOI: 10.2307/1427557.
- [13] J. G. C. Templeton, Retrial queues, Top 7 (1999), 351 353, DOI: 10.1007/BF02564732.
- [14] N. Tian, X. Zhao and K. Wang, The M/M/1 queue with single working vacation, International Journal of Information and Management sciences 19 (2008), 621 – 634, DOI: 10.11569.2807.
- [15] D.-A. Wu and H. Takagi, M/G/1 queue with multiple working vacations, *Performance Evaluation* 63(7) (2006), 654 – 681, DOI: 10.1016/j.peva.2005.05.005.
- [16] T. Yang and J.G.C. Templeton, A survey on retrial queues, *Queueing Systems* 2 (1987), 201 233, DOI: 10.1007/BF01158899.

